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DOWS30 18329.04 (+0.49%)
NASDAQ 5328.67 (+0.69%)
S&P500 2163.66 (+0.46%)

NIKKEI225 16860.09 (%
SHANGHAI 3048.14 (+1.45%)
FTSE100 7097.50 (+0.75%)
DAX30 10624.08 (+1.27%)
CAC40 4497.26 (+1.06%)
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103.59 (+0.70)
6.7008 (+0.0230)
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WTI 51.35 (+3.1%)
COMEX® 126040 (+0.7%)

u

e =4 A=

Am  2056.82 (+0.15%)
AL 674.74 (-0.17%)
/28l 1108.40 (-7.10)
KTB 110.64 (-0.08)
LKTB 131.60 (-0.35)
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1.3440%
1.3350%
1.3780%
1.5460%
1.5790%
1.5820%
1.3400%

1y
3y
5y
10y
20y
30y
CcD

7. 2 A

1Y
2Y
3Y

5Y
10Y

-3.55bp
-3.60bp
-2.25bp
-3.55bp

8. IRS/CRS &t

“IRS, =%

*CRS, &%
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*IRS 22|

1y 13175%
2Y  1.3050%
3Y  1.3125%
5Y  1.3425%
7Y 1.3675%
10Y 1.4300%

-11.60bp

ofM =

(+0.80bp)
(+0.90bp)
(+3.50bp)
(+1.50bp)
(+0.60bp)
(+0.60bp)
( 0.00bp)
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+0.10bp)
+0.85bp)
+1.10bp)
-0.75bp)
(+1.50bp)
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(+1.00bp)
(+1.25bp)
(+2.00bp)
(+2.75bp)
(+2.75bp)
(+3.00bp)
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(+0.25bp)
(+0.75bp)
(+1.50bp)
(+0.75bp)
(-0.00bp)

-1.25

1*2y
2*3Y
2*5Y
3*5Y
5*7Y

0.75
3.75
3.00
2.50

(+0.25bp)

8.75

5*10Y

*CRS =2

(-1.00bp)
(-1.00bp)
(-1.00bp)
(-0.50bp)
(-1.00bp)

1.1600%
1.0100%
0.9650%
0.9050%
0.8300%

1Y
2Y
3Y
5Y
7Y

( 0.00bp)

0.8100%

10Y
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